SR i £ TR L)



o [BIER1] —PRERXEZAR, wiHEEN80km/h, F—EiE
R=250m, 3‘2)5JDE’J/~‘737'7K17+568 38, ¥Bf, AitHZL

EREZMELRRINERHES.

1. BREAKEL
o PR RABHETERERS0 (kmh) , W

3 3
L. = 0,036 = 0.036x 80" _ 73.73(m)
R 250

>V 3239 3 66.67(m)
3.6

Y
L. =g~ R=%~250=27.78~250(m)

L, >

o BUEEY, RASAMMELKTS (m)  (RiE) ME: V=80 (km/h) K, B/

ZREZLKATOM) .

-+ 2. EHKKABEAR

2 4
AR = o [ = = 0.94(m)
24x 250 2688 x(250)




3. 'ﬁtjjéjzﬁ

75

T,

3
S =37.27(m)

=
N2

. 4. A aEREC

P L 75
2R” T 2% 250

2 240x(250)

94)tg19°15 +37.47 = 87.63+37.47 =125.10(m)

—h

x57.2958 = 8°35'39.72"

1

L, = 250 (38°30' — 2x8°35'39.72") x — + 2x 75 = 92.99 + 150 = 242.99(m)

* HER2-14K T

2 /NG R R, e B 2 K

9299 (m) , %7
e 5. ANELHS

&2 2-1507 51 5] Bh 28 i MK 70ml§l’ﬁ%mo

/

 jEErE. PPl HQZMESHE I KIDIE TN, HIEKEIIDH 5 A,

BT IR .




